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S, =390 MPa, S, =490 MPa

(a) F. =28KkN,F_ =0kN

msx * 7 mun

2 3
= Free 28000 =147.4 N/mm® =147.4 MPa

T ira -
A 10(25-06)

S .
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o 1474
a,=K, o = o =2.2| 28000-0 |=162.IMP3
! | 24 12010)(25 - 6)|
o =K, Tomt B 5o 2800040 |65 ) \tpa
‘24 2(1025-6)
1 o, o, 1621 162.1
—_— =2 T = -+
a, S, 8§, 2086 590
n, =095 Ans
2
o =— O 1621 335 Mpa

=T 1(e./S,) 1-(162.1.590)
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F£S 3 [0.87¢390)
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s, 208.6
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Fly=Fy=Fc¢c=FI/3
M= (50+26+125)F = 201 F

201F
FrlesF'=""" =201F
470 2 (50)
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, = 120) = 242,

\

F. 5,
Tmax={T= '
Fe = 2343 F. C
S . )
_ o 4; J= 2423(7854 l](}_3 =4.06 kN
n (2343)7 20 \2343)

51_(
F=_r
2

A, 4200 64 )
it \,_.343J L

J10'3 =5.74 kN
20l 2.343

Bearing on channel: 4, = 64 mn12, S, = 170 MPa.

57 4 ;
Fo2if b ]=”0( 64 Jm-3=2.3z kN
n2343) 7 2.0\ 2343

Bearing on cantilever: 4, = 12{10) =120 mm:, S, = 190 MPa.

S ¢ Vo
LA ] 190( 20 Jlﬂ"=4.87 kN
2012343
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h=023m. b=235m,d=5m.

Table 9-2, case 5: 4=0. ?{}?h (H +7d) =(.707(0.25)[2.5 — 2(5)] = 2.209 in’

=2in

"“'I

b-l-..d 25"" (5)

24> N ,
/I = =2d°y +(b+2d)}y"

2(5)

=——L-2(5%)(2)+[2.5+2(5) (2% ) =33.33 in’

12

! =0.707 h 1, =0.707(1/4)33.33) = 5.891 in’

Primary shear:

|
()

r =7+ =0.905 +5.093 =5.173 kpsi
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